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@3-5/ Section - A

@gfapedia uy: s 1 3i)

(Multiple-choice questions : 1 mark each)

Pl fedl i sl A I R Hv

Please tick M anyone in the box —

1. fofe= 1 ¥ fw o sieror 3 fere 1. 'GolGhar' a bechive shaped structure

1786 ﬁf‘:’rﬁﬁq‘g’ﬂa@ & T & HR H) built in 1786 to store grains for the
W MR fRE & British Army is located in:

@ Yur ] (a) Bhopal L]
@ arRToRf [] (b) Varanasi L]
(& e [] (c) Patna []
@) TETS [] (d) Lucknow []

2. gﬁﬁ. 19 REBR g & & fear s 2. B.C. Roy Award is given in the field
7

of
(@) ar L] (a) Medicine L]
(&ﬂ) BSUIG] [] (b) Music D
GHEECIIRG]] [] (¢) Journalism []
COREIERY [] (d) Environment []

3. Fufafea 73 ey QU T B TH 3. Which of the following European

BOR il B ufr F g F countries is known as the 'Land of a
ST 89 thousand lakes'?

(@) Fid ] (a) Norway ]

@ TeT ] (b) Sweden []

@) et ] (c) Finland []

@) TR ] (d) Estonia []



4. U YT Be o 7 851" &1 o ©

'35 HIST e 3R 1783 &1 31 § 3T
e T[eTa 3R 341" &7 342 & e 3R
wer| Fofeiea #§ ¥ o9 91 3@ 39
ST & Hter & e g2

@s [ CIE L]
&1 O @3 []

T98R 2024 ¥ fog e 3 diwr uR
e # RFER™ ggEel F Iuhe
@ dgg@l ¢4 & U URd & Oy

Uh TG §I09 W SRR
fopuo

(Q) ATderg
@) S
GOHEIGEE!
(S uTd

10O 0 O

URd 4 f59 T P R [SER
g tRmE dftdg el ek
2024 St

(Q) ST
CORUEESIE]
GHEIR]

(1) Tf&T sifear

HEEEEEN

Tsd faged o Wusr 9=
2024 & SIER, YR & T IR
WUSRT & ¥4 T HY ygaHr T
0

@ e sy []
@ Jfelt ot L]
) s Afga [l
CUIRCEICH []

4. In a certain code language '851' means

'‘good sweet fruit' and '783' means
'sood red rose' and '341' means 'rose
and fruit'. Which of the following
digits stands for ‘sweet' in that
language?

@8 [ (b) 5 []
©1 [ @3 [

Which country signed a Memorandum
of Understanding with India in
November 2024 to promote the use of
local currencies in cross-border
transactions?

(a) Maldives
(b) Bangladesh
(c) Sri Lanka
(d) Nepal

oo

Which country did India defeat to win
the Bihar Women's Asian Champions

Trophy Rajgir 2024?

(a) Japan D
(b) Pakistan []
(c) China ]
(d) South Korea ]

According to the Edel Give-Hurun
India Philanthropy List 2024, who has
been identified as India's most
generous philanthropist?

(a) Nikhil Kamath
(b) Rohini Nilekani
(c) Anand Mahindra
(d) Shiv Nadar

HENENEN



8. Wﬁﬂgﬁﬁﬂgﬁwmww 8. When is United Nations Day observed
?

each year?
(T) 22 3fageR (a) October 22 []
(&) 24 3faga’ (b) October 24 ]
&) 24 TIR (c) November 24 %
@) 22 TAR (d) November 22

9. 2026 IPHST Wl fby TER In which city will the 2026

0000 % ufululs

fopd ST Commonwealth Games be held?
(Q) T (a) London []
COREIS (b) Glasgow []
SO GER] (c) Melbourne ]
(@ﬂ) aNal (d) Toronto D
10. 2024 H TTeT T DI 47 3{eme foby 10. Who has been appointed as the new
ﬁ% far mar g2 chairman of Tata Trusts in 2024?
(Q) ATy Tt [] (a) Cyrus Mistry []
(@) TeToT T5RERA [] (b) Natarajan Chandrasekaran [ |
@) T Tl D (¢) Noel Tata D
@h NEERITICINE] Wl (d) Rajesh Gopinathan L]

i 2024WQI'IIEWRWEIT§[W 11. What is the full name of the

pT YT 1H 1 %? organization that won the 2024 Nobel
@ oM e D Peace Prize?
1
: (a) Nihon Hidankyo []
(& TRATY SRARY &Y Wt A &
o g.mq-f@q A [ ] (b) Interljlational Campaign to
&h ] Abolish Nuclear Weapons ~ [_|
e O (c) United Nations |:|
@D (d) Greenpeace [



12. T & 2024 H1 Al JREHR fbd

13.

14.

Y fobar T

() TP TRBTHT [
@) B BT []
(&) IiRe™ U []
(@ APRe Tegs []

3fagER 2024 T hfene gRI farm vroraff
I YR HIYT BT Goll fedT T2

TeaTerH

[]
G ]
RISt []

[]

3R fedt

HRd &1 G AT et G B 91 82
@ fe=8g

(&) TrgTeT TMie g

() 3rerm ey il foret

(S YU THRT g

HENEEEN

15. YRd & {59 d = 9 S oof feuifore

T fobaT &9

@ ¥C 9% 31w 3fsar(sey [
(&) USTe A28l S (PNB) []
& S 3HTH TSIal (BoB) []
@h T ¥ []

1.

13.

14.

15,

Who was awarded the 2024 Nobel
Prize in Literature?

(a) Haruki Murakami []
(b) Han Kang L]
(¢) Orhan Pamuk []
(d) Margaret Atwood |:|
Which languages were granted
classical language status by the

Cabinet in October 2024?

(a) Hindi, Tamil, Telugu,
Kannada, and Malayalam []

(b) Marathi, Pali, Prakrit,
Assamese, and Bengali []

(c) Sanskrit, Tamil, Telugu,
Kannada, and Marathi ]

(d) Assamese, Gujarati, Bengali,
Pali, and Hindi

Which is the longest River bridge in
India?

(a) Rabindra Setu ]
(b) Mahatma Gandhi Setu []
(c) Anna Indira Gandhi Bridge |:|
(d) Bhupen Hazarika Setu ]

Which bank of India has introduced the
Green Rupee Term Deposit?

(a) State Bank of India (SBI)  [_]
(b) Punjab National Bank (PNB) [_]
(¢) Bank of Baroda (BoB) []
(d) Indian Bank []



16. "R SHHIH BR ST geas

17.

18. U

19

20.

fargas grT fordt 18 ot
@ dt. &. R, . 3
@ TH. Y

& F.TI.

@ FHE Rig

HEEINn

AT 3T BT Ul =9 77 B9

Q) AR G018 P
(&) AT TTeR Tt L]
SIEEIRGNERS []
(Sh e mieh []

4G 6, 14, 30, _, 126, 254 H T

e g

@33 ] @has []
elyss L0 e []
YR 1 g Y St 1 &9
Q) g&T i

@l el S Re

(dh HeTaaa

(Sh HiferiRyex S Re

HEEENIN

16. The book “Planning Economy for

17.

18.

19.

20.

India” was written by?
(a) V.K.R. V.Rao
(b) M. Visvesvaraya
(c) K. N. Rai.

(d) Manmohan Singh

HiE NN

What is the full form of NITI Aayog?

(a) National Institute to
Transform India |___]

(b) National Institute for
Transforming India

(c) National Institution to
Transform India

(d) National Institution for
Transforming India

0

The concept of Five year plan was
introduced by :

(a) Morarji Desai

(b) Lal Bahadur Shastri D
(c) Jawaharlal Nehru L]
(d) Indira Gandhi EI
The missing term in the series 6, 14,
30, _, 126,254 is

@33 [] (46 []
€355 . [] @e ]

Who is the Chief Law Officer of India?
(a) Chief Justice

(b) Attorney General
(¢) Advocate General
(d) Solicitor General

NN



21. TRATERT <RI GRS’} U Re §

@ frdt grdee sfuert a1
et TR ¥ BT elol

HIUCH PR P b [

@ rdee ue R fF sfe &

214 B AT D1 SId DAl []

@) Tt VF safad &1 Sfered &
I O 84 & U Pl
S 5 s wfdg &t

fevra o feran & L]
@h fedt ff el sead &
RIes I SMUBR &7 9
SER IS BT e} BT ]
22. Sl3fl AR &1 Hd BIF 1 52
@ faum Bt []
ENE L REAIRG L]
& faumfra sme=r []
(Sh) SHI-3SY L]
23. Fgfafed & § &F 91 SR FFRISS
I Tl 87
Tl []
& gHes []
. et []
. 7 []
24, HRA & HAYTH BT DI FT SJ5a AP
e & WRP! 3R I Bt GR&M 1
T BT 2
T, DS 47 []
. 3T 48 []
T, S 49 []
. g S1A []

21,

22.

23,

24,

'Mandamus' is a writ issued by the
Court

(a) Asking a public official or any
authority to perform legal
duties

(b) Enquiring into the legality of
claim of any person to public
office

[]

(c) Asking a person who has
detained any other person, to
appear before a court

(d) Against any lower court not to
do any act excess of their
jurisdiction

[]

What is a full form of a DO letter.
(a) Department Office

(b) Demi-Official

(¢) Departmental Order

(d) Demi-Order

NN

Which of the following animals can
hear infrasound?

A.Dog []
B. Bat []
C. Rhinoceros [:l
D.Humans |:|
Which of the Articles of the

Constitution of India provides for the
protection of monuments and objects
of national importance?

A. Article 47
B. Article 48
C. Article 49
D. Article 51A

NN



£

26.

2T

YRd & =T g & [y

¥ fau omags UEal AMEE &

oy § fgfofed du R 9ER

B

. ofaadl &l U ufaffd <mafag g
Gl

1. fed ®H I HH UE TN deb [bal

I AT a1 & a1 oY T/
qraTerdl & TR randier 81 8l

111. AfTal B HH F BH &Y a8f db
forelt 3= =araTaT A <y an St U
T} B IR deb e Tg1 AT

SWRIad H ¥ dH A HY9 T

LA,

T Had 3R I

. g 11 3R 11

T, Hae 1 3R 101

Stgdi L sk

HENYEEN

Fafafed & @ o5 gAdls @R
2024 P fsrar 1

T 9yl Rig Srert (B oo

& A A off ST T ) []
. ot TRt []
. gHeR At []
Bl A 3R BEHI []
IR PR REBR 2024 FafeiiEa

i

26.

27,

Consider the following statements in
relation to required eligibility criteria
for the appointment of the Chief Justice
of India:

I. The persons must be a
distinguished jurist.

II. The persons must have been for at
least five years a judge of a High
Court or of two or more such
courts in succession

III. The persons must have been for at
least ten years an advocate of a
High Court or of two or more such
courts in succession

Which of the above statements is/are
correct?

A. OnlyIand]II []
B. Only II and I []
C. Only I and III []
D. AllL II and 1T []
Who among the following was the

winner of the Jnanpith Award 2024?

A. Sampooran Singh Kalra (also
known as Gulzar)

B. Shri Rambhadracharya
C. Damodar Mauzo

D. Both A. and B.

oo

The International Booker Prize 2024
has been awarded to which of the
following books?

A. Kairos
. Time Shelter

100 O O

B
C. Prophet Song
D. Tomb of Sand



28.

29. HY4dd

SRIfar fades g Isg A=+
o1 uiid fosar T

T bR
CIEEShll

. e

St ufgg &

OO0

e Iy wad e dgl @G-
THSIoN) & sWI&ReGdl & U H YR A
el ARy d&dl d W HRA Pl

T. 2025

. 2030
4t 2035
B1. 2040

HENNEN

30. B T 3¢ g AN ¥ dafdd

3L

27

T. 315G 360

1. RT 370

. e 324
81 3 w™a 312

OO0 O

39 3faRkel aF &1 Far 9 o7 foeE
TS & d5H IR SARI?

T. 3{qieft
CIEREH
. wrafaar
S|

NN

10

28.

29,

30.

‘Aparajita’ Bill was passed by which
State Assembly?

A. Kerala
. Odessa

ooogd

B
C. Assam
D. West Bengal

India as a signatory to the United

Nations Sustainable Development
Goals (UN-SDGs), has pledged to
achieve the ‘End TB’ targets by:

A. 2025
B. 2030
C. 2035
D. 2040

N

Which Article is related to Election
Commission?

A. Article 360
B. Article 370
C. Article 324
D. Article 312

0000

31. What was the name of the space shuttle

that landed man on the moon?
A. Apollo

B. Challenger

C. Columbia
D

N

. Eagle



32,

33.

34,

35.

36.

RETUSR T IR 1 T 87
[ I ES I

. SRIeH

. T

3. SAmEe

L B

gfe ROAD &I URDG fer@mr &mu ot
SWAN @I ferar §=1 =nfee

U. divaSiey
CIRCIEERIEE
. Aoredid

3l quaneiay

(2722 128%) BT FHA ©:
(Q) 144

(i) 200

(T 240

(S1) 256

HENEEEN

HAEAEEN

giq 7 geofsarl 7 fei & 7 W
g @ 1 Teel By A # 1
EEIik

CEIK]]
el
@ 1fe&T []
@ 72 =& []
& 7fem []
@1 49 A |7

i 2m1 4+ 201 = 320§, Al n NS &
©) 6 L1 @hs []
& s L1 &7 L]

1

32. What is another name of RDX?
A. Cyanohydrin
B. Dextran

C. Cyclonite

L1000 O

D. Dynamite

33. If ROAD 1is written as URDG, then
SWAN should be written as

A. VXDQ
B. VZDQ
C. VZDP
D. UXDQ

HEEEEEN

34. The square root of (272% — 1282) is:
(a) 144
(b) (b) 200
(c) 240
(d) (d) 256

Doon

35. If 7 spiders make 7 webs in 7 days, then
1 spider will make 1 web in how many
days?

(a) 1 day
(b) 7/2 days
(c) 7 days
(d) 49 days

HENANEN

36. If 2! + 271 = 320, then n is equal to
@6 [ s ]
@5 O @7 []



37.

38.

YRd H Wt e U™

gall:

(@) TSl T HURYT HATE []

(@ s fvror fadve e [

e Tae &1 faiy L]

@1 1919-22 BT UG SHGANT
3ficra

YR T HRE A 6w siftaw o

qof W (qUf @) @Y SO e
it faram

(@) TER, 1929

(@) TGS, 1916

& g, 1939
(&) AER, 1940

Ly EEE

39. 4 1 ofeht $Xe Sfa ot - Hel ¥

40.

foram um

(@) gereht []
@h s [l
&h =T guH ]
&h ared fgdia []
@S NepTel gRT HRT o I FR1& & ferg
e & weow F wU o SIS Bl
Ryopife forg oy 1 718 ot

(@) 1835 []
@) 1833 []
(&) 1858 []
(@) 1821 []

12

37

38,

Swadeshi Movement started in India
during :

(a) The Champaran Satyagrah of
Gandhi

(b) Anti-Bengal Partition

agitation []
(c) The protest against Rowlatt

Act D
(d) The first non-co-operation

movement of 1919-22 ]

In which session did the Indian
National Congress declare Poorna
Swaraj (Complete Independence) to be
its goal?

(a) Lahore, 1929
(b) Lucknow, 1916
(¢) Tripuri, 1939
(d) Lahore, 1940

oo

39. Mumbai was taken by the English East

40.

India company from :

(a) The Portuguese D
(b) The Dutch ]
(c) Charles I []
(d) Charles II []
In which year was English

recommended as the medium of
instruction for higher education in

India by Lord Macaulay?

(a) 1835 L]
(b) (b) 1833 n
(c) 1858 ]
(d) 1821 []



41.

42.

43.

45.

6 31U, 1930 YRA & sfae A UG @
i T8 TR forerd Twaifia 2 -
(@) HETH gRI Gl Ard

(& HRT BIST 3figter

& & 1 AU

@l URd &7 Ay

[]

HEEEN

HRA & TTaR-S-Rd ] U H
T G312

(@) 15 3R 1947
(alh) 9 3T 1948
(&M 26 SR 1950

(S 2 3T 1950

HEEEEEN

Hicl-fe GURY g1 o war & R
e smRfar &t 1o
(@ Fget
CURESERIE]
GUERIF]

©h Rra

HiEENEE

44. 3Mf¥er Tderor TeTiRId fara S 2

Q) fo darera

(&) TISHT ST

@ YRT TWRBR

(S YR T IT TRm

oo

AN GieHT &) SfaUROT Haf A o
LRI

@guat [ ] @hEee []
@wRm ] &Hwig []

13

4].

42.

43.

44,

45.

6th April, 1930 is well known in the
history of India because this date is
associated with —

(a) Dandi March by Mahatma  [_]
(b) Quit India Movement []
(c) Partition of Bengal ]
(d) Partition of India D

When did Governor-General’s rule end
in India?

(a) 15th August 1947
(b) 9th August 1948

(c) 26th January 1950
(d) 2nd October 1950

oo

For which community were seats
reserved by the  Morley-Minto
reforms?

(a) Jews

(b) Muslims
(c¢) Christians
(d) Sikhs

HEEINE

Economic Survey is published by:
(a) Ministry of finance

(b) Planning commission

(¢c) Govt. of India

(d) Indian statistical institute

O

The concept of five year plan was
borrowed from:

(@) USA [ ] (b)England [ ]
(c)Rusia [ ] (d)France [ ]



46.

47.

48.

49.

% 19 YR B 3 TP FiEd gl
| T 48 fire ® g Bl § IR URT
¥ yRiga g g 5 §e 20 fre H
0 B 21 afe YRT B I 5.2 foeHy
geT 21 d YRT & 3B 86.4 fHH SIH
3R YR ¥ Ufree arog S H fae
TG AR

@) 6 e 21 fiFe
(@) 6 °¢ 42 fie
@@ 5 °c 36 B
@ 5 °¢ 48 fiFe 19.

63 U9 T M BI 34 fal # T IR
& © 3R 51 Afgey IH S B
84 a1 & 1 AR el &1 Al 36 T2
3R 47 HizAT o R/ HA B diel
I ¢l 3¢ P R B d fbeA
e @i

@nfm O @ O
@hufm O @aefm 0O

TS S B! ST Ugd aY | 8%
¢ 3R R o H 10% S 8
SRS 5346 §1 & Y UgA DIdlHl bl
ST foraH!

@a4t00 [ @@ 3800 ]
@haso LI @) as00 []
HHG 3 TRBR Sl ared HRA™
GaE Ry

(@) ol X &
@) TR, T{HH L]
& T & L]
(@ Y 3T []

14

46.

47.

48.

49.

A boat covers a certain distance
downstream in 1 hr. 48 min. and covers
twice the distance upstream in 5 hr. 20
min. If speed of current is 5.2 km/hr.
Then how much time it will take to
go 86.4 km downstream and return

upstream.
(a) 6 hours 21 minutes

(b) 6 hours 42 minutes

(c) 5 hours 36 minutes

OO

(d) 5 hours 48 minutes

63 men can complete a work in 34 days
and 51 women can complete the same
work in 84 days. If 36 men and 47
women undertake to complete the
work then how many days will they
take to complete the work?

(a) 2 days l:] (b) 36 days
(c)34days [ ] (d)42days

[]
[

The population of a colony increased
by 8% in the first year and increased by
10% in the second year. Now the
population is 5346. What was the
population of colony two years ago?

) 4100 [ ] (b)3800 ]
(©)4250 [ (d)4500 []

Who was the Indian to win an
Honorary oscar Award?

(a) Satyajit Ray |___|
(b) A.R. Rahman [ ]
(¢) Guru Dutt |__—|
(d) Bhanu Athaiya ]



50. TR P TN HITS HI D 3ffcliad e

51.

52.

33.

2 % 98 T Iy fUF ¥ Siisax 9
& o 7w Aeged s 8| T T B
I Aeged & 8 USl BT S Yahdl & 3R
e Ih Alegd | 20 US §1C ST Gebd
21 gfe 7% Aiege sH & fore Suasy
sifafvar <l & d@am 7500 B, df T
feer I e SIS o obdl 67
(@) 3500

@@ 30

& 300

@ 3000

HiNEEEN

52 7l @1 U TE H ¥ TS UM
efes® ¥4 § T &dr g1 s9@)

1 dura § & R T o718 <8
g §HH BT B

@) 1/13 L] @213 []
&z L @z [

gf¢ TRANSFORM T3 & 3i&RI Pl
3T qUiHTET & 3FUR U SgafRud
foban e, @ 59 qrsdiawyr & a1 faba
3feRt @1 fyfa smfvafda g
@a L @=s= [

chdr [ &@w [

fSifcar 7 &1 enfawp forem faam
(Q) Tl g []
CUEIERIGECH []
(@ ez sreare ]
(Sh) SWIad Y BIs Tl L]

15

50. Sourav has some spare sheets of paper

1.

52,

3.

which he pins together and makes
rough notebooks for sale. One sheet
can be cut into 8 pages of a rough
notebook and one rough notebook can
be made with 20 pages. If the number
of spare sheets available for making
rough notebooks is 7500, then how
many such rough notebooks can be
made?

(a) 3500 ]
(b) 30 []
(c) 300 ]
(d) 3000 [

From a pack of 52 cards, one card is
drawn at random. What is the
probability that the card drawn is a ten
or a spade?

(a) 1/13 ] 213 []
(c) 3/13 L] (d)413 ]
If the letters of the word

TRANSFORM are rearranged as they
appear in the English alphabet, then the
position of how many letters will

remain  unchanged after  such
rearrangement?

(a) Two [ ] (b)Four []
(c) Three ] (d) One []

Who mvented the printing machine?

(a) Macro Polo []
(b) John Gutenberg [ ]
(c) Peter Abelard []

L]

(d) None of the above



54. @ g, R BT 8 H ey B!

55.

36.

57.

gy F ¥ ©U & amar el aR
fepfs s, g ToHifo® &d ¥
Yeiferd 82

(@) SR e uref @tedh) [

@) St aref []
) rareft < L]
@) IR THIG- TSI []
FufRad 7 ¥ o1 & 37 ¢ usfefthe
W' & AED g2

(@ IR AT ST Bles] []
& T &%, Ay []
& =argwfe o, &, T []
CRIRE CREISEILEU ]
IfayE &1 DA A e Fard

T & A B e @i
TG Rl 62

(@) 114

@@l 124
(@) 148
@h 152

HENEEEN

FrofRiRed o ¥ YRd & gravie 8=
&P TeP 3R T S FY § BRI FHRal
)

Q) BT

(&) IToTeg HA

() iz Td HeTern iRl
(@1 TSI

NN
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54.

53.

56.

57,

Sheikh Hasina, who recently secured a
record fourth consecutive term as
Prime Minister of Bangladesh, belongs
to which political party?

(a) Bangladesh Nationalist Party

(BNP) []
(b) Jatiya Party []
(c) Awami League ]
(d) Bangladesh Jamaat-e-Islami |:l

Who among the following is the author
of ‘Law in the Scientific Era’?

(a) Justice Markandey Katju
(b) Justice K. K. Mathew
(c) Justice G. T. Nanavati
(d) Justice N. Santosh Hegde

HENENEN

Which Article of the Constitution
makes a provision for the
appointment of the Supreme Court
judge?

(a) 114
(b) 124
(c) 148
(d) 152

HEEEE

Who among the following acts as the
Custodian and Trustee of public money
in India?

(a) Lok Sabha ]
(b) Revenue Minister []
(¢) Comptroller and Auditor —
General |:|
(d) Rajya Sabha ]



58.

59.

60.

6l.

Roffad & ¥ F Fa® Td Aerer
T @ RO B AeaH H TRgd
FH ¥ Ugd Suwl fOxa WE
P 67

@ =it At [l
@ ardere supdl e [
&) SrgeE TR []
@) A Ffd L]
HH @ I9diy aftfd & gaw & I
T THI-GHT TR g 9 3 a1 Fge
0 9 & 3R I 1 FRAR =l
Edl 62

(@ =t wfAfd L]
(s faritar fAfd []
@ o sfafa ]
@) A HHS []
HH 91 e URa o dfaa R E 47
frepTem o SHfRipd Far 82

@ o RAdu® ]
@ Ffgyr gne= fadas L]
& fafam fadae []
@) foxr oo ]
§oTe ¥ R Gaufie Ysarad |1 8?
@ a1 fafta faror L]
@ S e &1 fyaRor ]
& 3 3R 39 BT faRur ]
(&) Uit 37R IoRa @Il ]
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58.

59.

60.

61.

Which of the following scrutinizes in
detail the report of the Comptroller and
Auditor — General before submitting it
to the Lok Sabha?

(a) Standing Committee D
(b) Committee on Public
Undertakings D

[

(d) Public Accounts Committee ]

(c) Estimates Committee

Which  Parliamentary =~ committee
members are elected or appointed
every year or periodically and their
work goes on a continuous basis?

(a) Standing Committee
(b) Financial Committee

(c) Rules Committee

)

(d) House Committee

Which bill authorizes the withdrawal
of the funds from the Consolidated
Fund of India?

(2) Money Bill []
(b) Constitutional ~Amendment
Bill []
(¢) Appropriation Bill L]
(d) Finance Bill []

What is the constitutional terminology
for Budget?

(a) Annual financial statement ]
(b) Statement of balance sheet ]
(c) Statement of income and
expenditure ]
(d) Capital and revenue account |:|
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62.

63.

64.

65.

Who is the Chairman of Public

Accounts ~ Committee  of the
Parliament?

(a) Prime Minister D
(b) Member of the opposition Il
(c) Member of the ruling party ]
(d) Cabinet Secretary D

On which of the following subject
matters does the Rajya Sabha have
precedence over the Lok Sabha?

(a) Creation of All India Service [ ]

(b) Motion of Impeachment ]
(c) Ordinary Bill []
]

(d) Money Bill

Which day is observed as Human Right
Day?

(a) 24th October ]
(b) 4th Tuly ]
(c) 10th December D
(d) None of these I:]
Gautam Buddha was born in
(a) 563 BC ]
(b) 472 BC L]
(c) 627 BC L]
(d) None of these ]
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66.

67.

A mixture of metal dissolved in
mercury is known as

(a) Amalgam
(b) Alloy

(c) Mercury salt
(d) Solution

{ IR

Penicillin is a

(a) Antibiotic
(b) Fats

(c) Enzymes
(d) Proteins

Ooono

68. Which of the following diseases can be

b9,

transmitted from one person to another
through tattooing?

I Chikungunya, II Hepatitis- B, III

HIV-AIDS.  Choose the most
appropriate answer,

(a) Only I []

(b) II and IIT L]

(c) I and III []

(d) L, 0, 111 []

In which part of the Indian Constitution
are the provisions related to the

amendment of the Constitution
mentioned?

(a) Part 15 []
(b) Part 16 L]
(c) Part 19 []
(d) Part 20 []
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70. Which one of the following is not

71.

72.

73,

correctly matched?

(a) Akash — A medium range
multi-target missile

(b) Nag — An anti-tank missile ]

(c) Pinaka — A multi-barrel rocket
launcher weapon system ]

(d) Trishul — A short range surface
to surface missile D

What is the main chemical substance
present in the bones and teeth of
animal?

(2) Sodium Chloride []
(b) Sodium Hydroxide ]
(c) Calcium Phosphate []
(d) Calcium Sulphate L]

Which of the following substance is
least prone to catch and spread fire?

(a) Nylon
(b) Tricot
(c) Cotton
(d) Polyester

HIEEEE

Which of the following industries is
the maximum consumer of water in
India?

(a) Thermal Power
(b) Paper and Pulp
(c) Engineering
(d) Textiles

Ooon
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74.

i

76.

s

The earliest Vedic literature comes
from a background of :

(a) Agrarian economy |___|
(b) Pastoralism I:l
(c) Settled agrarian economy D

(d) Commercial urban economy ]

In which of the following place, major
Rock Edict is available?

A. Maski

. Meerut

0000

B
C. Sopara
D. Sarnath

Who directed the film ‘Netaji Subhash’
which was produced by Vallabh Bhai

Patel and was based on the life of
Subhash Chandra Bose?

(a) Chhotubhai Desai
(b) G. Ramabrahman
(c) Master Baburao Painter

(d) Debaki Kumar Bose

L1000 O

Antyodaya Diwas is celebrated in
honour of whose birth anniversary?

(a)Mahatma Gandhi ]
(b) Jawaharlal Nehru []
(c) Pandit Deendayal Upadhyay []
(d) Subhas Chandra Bose []
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78.

.

80.

Watching, processing and failing to
report child pornography falls under
which act as a sexual offense?

A. Bharatiya Nyaya Sanhita ]
B. POCSO Act []
C. Juuenile Justice Act |:|
D. Digital Personal Data

Protection Act, 2023 []

Recently, with which countries has
India signed a trilateral agreement for
cross-border electricity trade?

(a) Nepal and Bhutan L]
(b) Nepal and Sri Lanka ]
(c) Bangladesh and Bhutan ]
(d) Nepal and Bangladesh []

To track progress throughout the
school years, and not just at the end of
Grades 10 and 12- according to NEP
2020 all students will take school
examinations in following classes.
Find out the correct sequence.

(a) Grades 1,3, and 5 L__|
(b) Grades 3, 5, and 6 L]
(c) Grades 2, 4, and 6 ]
(d) Grades 3, 5, and 8 |:|

81. What is the only one of India's 29 states

that does NOT have a Central
University?

(a) Goa ]
(b) Sikkim ]
(c) Assam L
(d) Manipur D
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82. Which of the following has been

&3.

ranked the best college in the country
(2024) as per the National Institutional
Ranking Framework (NIRF) ?

(a) Miranda House, Delhi
(b) St. Stephen’s College, Delhi I:l
(c) Hindu College, -Delhi |:|
(d) Maharaja’s College, Mysore L]

Three bells ring at intervals of 36
seconds, 40 seconds and 48 seconds
respectively. They start ringing
together at a particular time. They will
ring together after every

(a) 24 minutes ]
(b) 18 minutes ]
(¢) 12 minutes D
(d) 6 minutes []

84. The LCM of two prime numbers x and

85.

86.

Y, (x >y) is 161. The value of (3y — x)

[] []
[] []

Find the least number which when
divided separately by 15, 20, 36 and 48
leaves 3 as remainder in each case.

(@723 [] (b)483 []
(c)243 [] (d)183 []

(a) 2
(c) -1

(b) 1
(d) 2

L.C.M. of two numbers is 120 and their

H.C.F. is 10. Which of the following
can be the sum of those two numbers?

@ 140 [] ()80 []
(c) 60 (1 (@70 []
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87.

The basic unit of all living organisms
is

(a) A drop of blood L]
(b) A molecule of glucose |:]
(c) A set of proteins |:|
(d) A cell L]

88. Snakes and lizards are animals that are

89.

90.

(a) Warm-blooded
(b) Cold-blooded
(c) Both

(d) None of these

1000 L

A ligament is

(a) A fibrous tissue that joins the
muscle to bone

[

(b) A type of amorphous gel that
cements non movable joints

together []
(c) A type of fibrous connective

tissue that joins bones

together at joints ]
(d) Only formed to repair

damaged muscle tissue

The vessels that supply blood to the
heart are

(a) vasorum
(b) cardia

(¢) coronoid

(10O O

(d) coronary
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91.

92,

93.

94,

95,

96.

Alcohol is a common -
(a) stimulant
(b) depressant

(c) hallucinogen

oo

(d) none of these

Mr. X walks 5km towards the south
and then turn to the right. After
walking 3kms he turns to the left and
walks Skms. What direction he is
facing right now

A. West D
B. South []
C. North east L]
D. South west L]

Find the number of permutations of the
letters of the word ROORKEE.

A. 21 L] B. 1260 []
G ses ) s []
9587- 2 = 7429 - 4358

A. 6516 [ ] B.5229 []
C. 2158 [ ] D.4358 []

The difference between the place value
and face value of 6 in the 856973 is

A. 973 [] B.6973 []
C. 5994 L] D. 6967 []

The smallest number which when

diminished by 7, is divisible by 12, 16,

18,21 and 28 is

A. 1008 [1 B.1015 []
[]

C. 1022 [] D.1032
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99.

A crate of mangoes contains one
bruised mango for every 30 mangoes in
the crate. If 3 out of every 4 bruised
mangoes are considered unsalable, and
there are 12 unsalable mangoes in the
crate, then how many mangoes are
there in the crate?

(2) 380 ] (b)480 ]
() 250 1 (d)280 [5]

Mr. X walks Skm towards the south
and then turn to the right. After
walking 3kms he turns to the left and

walks 5kms. What direction he is
facing right now

A. West D
B. South [l
C. North east []
D. South west []

Find the number of permutations of the
letters of the word ROORKEE.

A. 21 [ ] B.1260 []
C. 5040 [ ] D.63 ]

100. 9587- 7 ="7429 - 4358

[] B.5229
[] D.4358

A. 6516
C. 2158

L0



Name of the Post: Assistant Registrar

Answer Key for Paper 1

Question | Answer | Question | Answer | Question | Answer | Question | Answer | Question | Answer
1 C 21 A 41 A 61 A 81 A
2 A 22 B 42 C 62 B 82 C
3 C 23 C 43 B 63 A 83 C
4 B 24 C 44 A 64 C 84 D
5 A 25 D 45 C 65 A 85 A
6 C 26 D 46 B 66 A 86 D
7 D 27 A 47 D 67 A 87 D
8 B 28 D 48 D 68 B 88 B
9 B 29 A 49 A 69 D 89 C

10 C 30 C 50 D 70 D 90 D
11 A 31 A 51 D 71 C 91 B
12 B 32 C 52 D 72 C 92 D
13 B 33 B 53 B 73 A 93 B
14 D 34 C 54 C 74 B 94 A
15 A 35 C 55 A 75 B 95 C
16 B 36 D 56 B 76 A 96 B
17 B 37 B 57 C 77 C 97 B
18 C 38 A 58 D 78 B 98 D
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